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Note :  Answers may be written either in English or in Hindi; but the same medium should be .

- used throughout the paper. .
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Answer Four questions.

Attempt One question from Section A,

Two questions from Section B and One question from Section C.
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Sectinn A
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Attempt any one question ;
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1. Discuss the nature, scope and relevance of Environmental Sociology.
2. Do realism and social constructionism represent two opposed strands of thought ?
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Section B
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Attemptl any fwo questions :
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3. What is “Political ecology” ? Describe its dominant narratives.
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4. “Ecological modernization” finds widespread acceptance because of this optimi.sm “Analyse,
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5. How does “Feminist-environmentalism” differ from “eco-feminism™ in its assessmerit of women’s

relationship with the environment ?
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. The “treadmill of production” is useful for both ecological as well as social analyses.'

Explain.

"I 1 defa’” (treadmlll of productlon) qifefae qen wrafaes favemm ‘c?Fh
% fog IwEnt ®1 =mem it

Section C
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Attempt any one question : -
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Describe the role played by transnational coalitions in the Nérmada movement.
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Anti-mining movements question mainstream ideas about develoﬁrﬁent and displacement.
Describe. | Y | l
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